Bitspower

SE— .

MRBEEREEMFL - BhABERIBHART - FFORELKSE  BREREFRLE -

Step 1 Step 2

If the water block has been installed on the Video card, First install (1) on the water block, and then install on the Video card.
please remove the water block and screw A first.

SR— E .

MRLERREEFRL - BRFSLRBLART - FFOQBEELEKSL  BEETEFRL -

REHE
Not included
[T Accessories [T s
(1) BP-VH1080TIFE 18 (1) BP-VH1080TIFE 1PCS (1) BP-VH1080TIFE 14
(2 M3x20 ZXiB4 2% (2 M3x20 mm Screw 2PCS (@ M3x20 iR 2%
(3 M3x6 =M 2% (3 M3x6 mm Screw 2PCS (@ M3x6=Kigy 2%
(@ M2.5x6 ZxiE4 2% (@) M2.5x6 mm Screw 2 PCS @ M2.5x6 BB 2%

EE - BUKAT - AAERAASHCREEERNUE L - £ XM - ERARMERT - A Before fill in water,please make sure all the component be installed correctly, AR - KA - BARIAMAZSHERREERNUEL - ERFEN - BFKRNERT -
avoidingleaking happen and destroy the PC component. #HIT24/NNHHKAE - BRERXEREEFEN - BRRERKDSREHBHEHRIE -

ET240EHEKES - RERBKEREEAIN  BRRERKMENEHSHIEER -

V1/%—hR



